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Question ID: 1449632
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Item No: 45
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Item No: 49
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Question Type: | MCQ

< Fifgat Tt U Afiwret wiguts 4.3 3 31 fogat St Fifgg wegr=t d wigus

Question:
Eikk
A: 4:3
1
B: (EF
4
C: ] i |
1
D: (i].?
3
Topic: Physics-Section A
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Question ID: 1449650
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Item No: 63
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NH; ©TUgHTE 39 = 17 g mol ™!
NH,Cl @ UgHEE 39 = 53.5 g mol ™))
A: 535¢
B: 23¢
C: 107.0 g
D: 126.0 g
Topic: Chemistry-Section A
Item No: 64
Question ID: 1449664
Question Type: | MCQ




30°C IUHTE GUT AB, © feUAE & widd »ig 200 s J 3 B <1 AB,
T Awe3 I H33d J1 AB, § 80% <o BTl b BHAH T B3 P

Question:
fg31d: log 2=0.30
log 3=0.48
A 200s
B: 323 s
C: 467 s
D: 532 s
Topic: Chemistry-Section A
Item No: 65
Question ID: 1449665
Question Type: | MCQ

J&1 i3 2 gEET (34 €a oz 998 A w3 o7 99 986 R 24 wila3 d13
famr 3
o3 996 A 9919 H&' &8 da1 2 Jo' J AR 3¢ 9 21 o ad 287 gt d |

Question: fore da1 Haret aad wig T J 20 a1 »iz wiz 199 Afsadt
IS R: [TH I83fes 21 41 §A 19 Yard <l Ida1 Suret 21 ulgiius gt
o feud= Gua fadgg ga<t 91
BUdas FE51 © w3 Jo i3 feamyt fad 7l €39 91

A: A% RS AJl I8 R. A <t Al fonrfinr

B: A% RIT A TS R, A <A feonmfimr 5t O

C: AANIUIRIBI I

D: AAd s JugrR A J

Topic: Chemistry-Section A

Iltem No: 66

Question ID: 1449666

Question Type: | MCQ

Question: 3 fAre fweTg T we Jd w3 wWegsl AEs QU3 € 33 d

A: Al

B Ga

C: Se

D In

Topic: Chemistry-Section A

Iltem No: 67

Question ID: 1449667




Question Type: | MCQ

Question: §a U3 A [sAagAs BA<! 94l U3 ASEE s wyids 3 &di gl A
A: Aluminium

B Iron

C: Lead

D Zinc

Topic: Chemistry-Section A

Item No: 68

Question ID: 1449668

Question Type: | MCQ

TEEAS UIHFAEIS w3 37 YSTHMH UgHdiae = Yi3fafanr iR yu3

Question: E’UT—F e

A: fAde Ma*". H,0

B: fAge Mn?". H,0

C: fAge Mn*". H,0. 0,
D: fAge Mn>", H,0. 0,
Topic: Chemistry-Section A
Item No: 69

Question ID: 1449669

Question Type: | MCQ

Joi i3 2 qEai ed Ha § fag 988 A i3 ¥/ 196 986 R = Wla3 9t
famr )
feg 99 A LiF UTl 39 503 Ui weeHE J1

Question: IS R: LiT” T 0fea] »idy fenm Ag 3 e Wiyd 9idu Hed! fod odiams
wingsd Az Fie I
Sudas 85T 2 wigg 3 J6t i3 98 feasyi fad 7dl €39 98

A: A3 RS A TS R, A 1 A fonfimr

B: AW RIS AJ Ta R, A T A fenrfip 51 9

C: ATAIUIRISI T

D: ATASAI UG R AN D

Topic: Chemistry-Section A

Iltem No: 70

Question ID: 1449670




Question Type:

MCQ

U1 I3 © a1 [ 9 23 986 A »i3 g7 998 985 R 24 M3 i3
far
foz 995 A: 8fga vz e IH=g wifis 9

Question: IIE R: HigS WS WU wny B wifes £3¢ 9 Sas/AHdE &di Jifeg
Ut 3 oH Y3 S99 J W3 B ues s34
Sudas a1 2 wigg 3 o3 I feamyi fod 7g 3 292t G50 9|

A: AWI RIE A TS R, A <A fenfimr 3

B: A% R TS A TS R, A <1 Adt fonfin 541 3

C: ATAIUIRISI I

D: AFASEA I UIRAS I

Topic: Chemistry-Section A

Iltem No: 71

Question ID: | 1449671

Question Type: | MCQ

Question: 13 SUSFH fraz Y3t Jaal JUIHE wia: Fe.26: Cu,29)

A: K3 [CU('CE)q_]

B: KE[CU(C}:)L}]

C: K3 [FE(C:\I)_]_]

D: K 4[FeClg]

Topic: Chemistry-Section A

Iltem No: 72

Question ID: 1449672

Question Type: | MCQ
FO 1 »3 g 11 @ HS'E 94|

HO 1 "l
YTHT 996 % 9 biCES
A FUHHR 1 Hiea Ue
Question: B. Ue € Uafed 33 I1. WIS Sfgwft yignd
c. "igdi& grdi urg 111, JHTEE Hret
D. Hdlie388e Iv. gAfeed Gedd
Jot i3 9 feasyi ffd 7t €39 9




A A-IL B-III. C-IV. D-I
B: A-IL. B-1. C-IV D-III
C: A-I. B-IV. C-II. D-III
D: A-I. B-IV. C-I1I. D-II
Topic: Chemistry-Section A
Item No: 73

Question ID: 1449673

Question Type: | MCQ

TUPAC Y81 S5 fafgniHi® aidui € &THIGE & Hd<3 & wurd uicd 9H

Question: o g

fegfer3gia
A — COOH>— CONH, > — COCl > — CHO
B: — S03H>—COCl>— CONH, > —CN
C: — COOR >—COCI>—NH,> »C = 0
D: — COOH > — COOR >— CONH, > — COCl
Topic: Chemistry-Section A
Item No: 74
Question ID: 1449674
Question Type: | MCQ

Question: Jot fefani i34 faadt Sadamets Giga 9t §eaas &dt o
A: _“
NH,
D:
Topic: Chemistry-Section A
Item No: 75
Question ID: 1449675




Question Type: | MCQ
Question: foar Wiare = Aglage 3 arfsa wiAs Ko de
A fagHis
B Hors SEHEHH TBIE3
C: Ho1S JRIEE
D HEEls IEERs des
Topic: Chemistry-Section A
Iltem No: 76
Question ID: 1449676
Question Type: | MCQ
i
Et0 —C —H;C — cH,cn,en D DiBAL-H
. g e (ii) Hy0
Question: [Et is —~C,H:]
Sudas yfsfafgur f&9 17y Qua <n
A OHC — HyC ﬁ CH,CH,CHO
0
8. ol
: EtO — C — H,C @ CH,CH,CHO
i
C: Et0 —C — 113-::4@ CH,CH,COOH
D: OHC — H,C Q CH,CH,COOH
Topic: Chemistry-Section A
Iltem No: 77
Question ID: | 1449677
Question Type: | MCQ
a3t yisfatiau &9 Adl B3lea wigdaHd I&
NO, OH

Question:

s

NH,

—5




A HNO,, Fe/H". HNO,. KI, H,O/H"

B: HNO,. KI. Fe/H . HNO,. H,O/warm
C: HNO,, KI. HNO,. Fe/H™, H,O/H"

D: HNO,, Fe/H". KI. HNO,, H,O/warm
Topic: Chemistry-Section A

Item No: 78

Question ID: 1449678

Question Type: | MCQ

Question: 93 ¢ SBARTEAS 1351 7wl d 1 (HEGE § I9H Ja I&
A: WIS »i3 AeTeldi®

B faQuts »i3 Asey

C: WETlE »i3 ASed

D o8t i3 Herdidis

Topic: Chemistry-Section A

Item No: 79

Question ID: 1449679

Question Type: | MCQ

Question: w%ﬂ?ﬂﬂ@gwmﬁ

A: WHTE S

B HBeH

C: GUEXEEGE

D WA Ugles

Topic: Chemistry-Section A

Item No: 80

Question ID: 1449680

Question Type: | MCQ

Question:

I3 I3 2 qEaT (3 99 o3 986 A W3 TA 998 986 R 90 »ild3 i3
fammd

fog 995 A:3138 ysEls €9 pH w3 god Jifeg 3am uls (29 daidie
3 ¥y WS 9 gt a1 et _

96 R: Glo® UESIE B9 aHdd 391 J 1 ¥d Wit 29 adt Zaar|
Qudas FaaT ¥ »g <3 3 I8 feggui f&d A3 3 ga=i 639 92|




A: AMI RIS AN TS R, A € A fonrfimn J

B: A3 R Y HIl IE R. A 1 A fenrfm 541 9
C: AAJUIR IS I

D: AFH ETIYIR A I

Topic: Chemistry-Section B

Item No: 81

Question ID: | 1449681

Question Type:

Numeric Answer

10 ¢ TEIZAS »13 JE8H 2 THHEGT § 5a3& Al AHdE 0.0125 m® I M3 6

bar W3 27°C YN SIftAfHEgc e digmmesg . grH Il
Question:
fg31a:r =831 K~ mol™!
(UgH™T=1 39 H W3 He ¥ JHED 1u M3 4u I&)
Topic: Chemistry-Section B
Item No: 82
Question ID: | 1449682

Question Type:

Numeric Answer

HE arsufsa wifes 48y * ferrd ifga feGafan idu fag s <t farest <a %

Queston: fedgesi A oA T T 0% THE &l
Topic: Chemistry-Section B
Item No: 83
Question ID: | 1449683
Question Type: | Numeric Answer
fer yZifafanr
H,F)(2)— Hy(g)*Fy(g)
Question: AU=-59.6 kI mol ! §Ud 27°C.
Sugas yHfafann @ vistmt Tws= kJ mol™!
(33338 ya?smafaafg@l)
37 d: R=8314 TK mol ™.
Topic: Chemistry-Section B
Item No: 84
Question ID: 1449684

Question Type:

Numeric Answer




| H8E31 218 J1d WfES AT ETZ TR T W3 K I 2
HBSIT T AT U T AHE T90 T WEEHS 6 K J1 Ky, W3 K, T 0fEUTs

Question: 2 .
fd Ky Kpis 1: X I X T HSE Gl

Topic: Chemistry-Section B

Item No: 85

Question ID: 1449685

Question Type:

Numeric Answer

< 20 mL, 0.02 M IEN WS T WgHUS BT 10 mL IUd A%ec < W& 9 293
Sfs1 A J fer feg @rg k1 < d% @9 Acdu & g9 o =di3m diwt J1 Cu?™
< HBIT <1072 M

Question:
H3d:2Ccu?™ +4T— Cu,l, +1,
1,+28,07 -»2I'+ 5,07
Topic: Chemistry-Section B
Item No: 86
Question ID: 1449686

Question Type:

Numeric Answer

Wﬁﬁg@ﬁhﬂﬁﬂwﬁémﬁﬂ%ﬁaw&ﬁﬁq?ﬁéﬁ@m
|

tion: e
Question C,H,OH + PCl, —C,H.Cl + A
A+PCl; —»B
Topic: Chemistry-Section B
Item No: 87
Question ID: 1449687

Question Type:

Numeric Answer

Wi MaF ;. MaF; %3 MnF, (@4 A3 3 393<d vigdlaad Widd < fide

Question: fAus dadt e o e BMdI
(639 338 Ya& »id 39 184)

Topic: Chemistry-Section B

Item No: 88

Question ID: 1449688

Question Type:

Numeric Answer

Question:

HiETdts aelas Jans < fods I@diaAs SUd yus midet Ol
fare=tns yamdt Aanmarei ) T&|




Topic: Chemistry-Section B

Iltem No: 89

Question ID: 1449689

Question Type: | Numeric Answer

A 100 mL W& CH;CH,MgBr T HIEAS &8 Y[3falan 91ge 2.24 mL JIH STP

Question: N =

SR JIBuRE dm T 39 mg/THEMH J1
Topic: Chemistry-Section B
Item No: 90

Question ID: 1449690

Question Type: | Numeric Answer

Question: ot _ﬁ,{lﬁ
WMEBBAS, USHIES G, TIAES, AGTTHS




